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BOTANY .
(Regular Elective )

Answer the Questions from any one Option.

 OPTION-A
(Cell and Molecular Biology)
"~ Paper : BOT-RE-5016

OPTION-B :
( Economic Botany and Biotechnology)
Paper : BOT-RE-5026

OPTION-C
{ Genetics and Plant Breeding)
Paper : BOT-RE-5036
Full Marks : 60
Time : Three hours

The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.
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(i)

()

OPTION-A
{ Cell and Molecular Biology)

Paper : BOT-RE-5016
. Answer the following questions :  1x7=7
weTe fal ePTRy T il ¢
(i) Which lens is used in phase contrast

microscopy ?

(G TGS SRS TGS (I A (o1 G2

¥ W?

Who proposed cell theory ?
@EIE @i ke sk

During meiosis, when the mechanism
of crossing-over taking place ?

Nefn @7 Reww e mﬁw—@%\
Wﬁﬂ\ﬂ%—?@'?

Who for the first time proposed the
‘Operon Model’ to explain the regulation
of gene action ?

oo fomm Fames FqO ‘Operon Model’
NG (R RemiE Sumed SRl 2
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(v)

(vi)

(vii)

Answer the followihg questions :

Write the function of RNA polymerase.
RNA ' foa@e «e@izsm a9 & |

Write The scientific name .of the
organism, in which Griffith had
conducted his transformation

experiments.

WWWWWWW
91 GRS Sl FIee! 2

Mention the different types of DNA
replication.

DNAW%W%%?

2x4=8

o ePTEE Ted i ¢

(1)

(i)
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Write a very short note on
mitochondrial DNA.

15 A DNA TS i (Gim 72|

What is the functions of Lysosome ?

SRR S W DIl forf|
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(iii)

(v)

Who invented electron microscope ?
Write the names of two different

electron microscope.

(P 2T ST SR T SRR SR
72 2RI ORGSR T I S |

What is Genetic code ?

e T NE 2

Write short notes on any three of the
following : : 5x3=15

were o R o 5 Sew i 2

()

(@)

(iii)

Fluorescence microscopy

TN ST g

Ultrastructure of chloroplast with

diagram

2RI oo (oa wiife)
Membrane protein and their .funqtib'ns

R 2/ I o TR
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(iv) Salient features of Watson and Crick
model of DNA (Draw suitable diagram).

6% = @ @i F= DNA F 9168 3
Nﬁwm[(ﬁﬁrﬁw)

(v) Different types of RNA and their
functions. : :

ffen evie RNA I O SR |

4. Answer any three of the following
questions : 10x3=30

TS BCE 1 R e fefrT B o ¢

(i) ~With suitable diagram describe the ‘Lac’
operon model for regulation of gene
“action in prokaryotic cells.

UCPRTH R (PR (Fae G e e
a8 ‘Lac’ operon’@Wﬂ%@ﬁW'Waﬁ'\’m
41| ‘

(ii) Describe the semi-conservative mode of
DNA replication and mention the
various enzymes with their functions,
required for replication process.

7+#3=10
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DNA &9 9id-7<33e Srpeize afes 151 <l | (vi) What is cell membrane ? Mention the
WWWWW@Q@WW various models of membrane

structures. Describe any one model of

it all _ membrane structure with diagram.
fil) ‘Déscribe. the. meiatic el division - of s

eukaryotic cell and write the FRRRe e [fen o @ER"e 9om" aiw

significance. 7+3=10 G TR S [ @ ‘51'5‘-? foa Wﬁ? 3ol

PSR @I 2l e s e Rorom el

oif&) T 1 W G (RECETE P -

T BT | -3

(iv) Explain the Hershey-Chase
bacteriophase experiment to show DNA
as the genetic material. (Draw diagram)

2+8=10

DNA (S0 #inief o7 efmiet ﬁiﬁ?@?{ Hershey—
Chased @RS TER oo T4l 9@*&‘1’@‘1
0 = (B i) |

(v) Describe the wultrastructure of
mitochondria with the help of diagram.
Explain why mitochondria is called as
powerhouse of the cell ? 6+4=10

5 iR RGN oo I <541 | “SiEGR=Em
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- OPTION-B (/) What is the scientific name of Indian
( Economic Botany and Biotechnology) Bay leaf?

Paper : BOT-RE-5026° | (ST (el I 5
1. Answer any seven of the following (g) Cotton fiber is made up of ...... et :
questions : 1x7=7 | £ | oz o) L Bt 4f5s |

e BT e T v ¢ (h) Who coined the term Biotechnology ?
(@) Centers of origin of crop plants were GRS =0l (I G SR 2

first identified in the year ............... : WP s s e

@ﬁ;ﬁﬁ P CeoAfS H ... e e | BRI B
I e | ﬂ _
() Cereal is alsoealled 20 1 - e 7 2. Answer the following questions :
2x4=8
YITSTOR *30F ............... Ifre 7| ﬁ -
| ol AR Sed el g
(o) Cerealsiareisiehiifs 00 -
(a) Callus
NS Y ............... © 52 |
| (e A e f
i ?
g Rl e (b) Molecular marker
GenBank f&? e Bz
el Pull form of PCR sc/ " e (c) Coatic therapy ;
FCRR Fsiciamals 00 e ! o B
3 (Sem-5/CBCS) BOT RE 1/2/3/G 8 \ 3 (Sem-5/CBCS) BOT RE 1/2/3/G 9 Contd.




o

(d) Bioinformatics as 1nterd1smp11nary
science

AT SwRery Fol

Answer any three of the following
questions : - 9x3=15

R Rieple) fofor e Ges s ¢

(a) Molecular diagnosis of human disease
PRI o el el

(b) ELISA technique

3T %S

(c) Molecular phylogeny
SRS 2 Jer

(d) Cotton plant and cotton fiber
FAR 1R W% TR TR

(e}  Hybridoma technology for production
of monoclonal antibody

2AREC efets S GPaToT St
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Answer any three of the following
questions : - 10%x3=30

e Riewien fofs! W@@%ﬁ

(@) What is tissue culture ? Write briefly
about the process and importance of
tissue culture. 2+8=10

FAL [Fe P omfe W% 3WF 99T
ERICREEIT

(b). Discuss briefly about the history and
scope of Biotechnology.

@aﬁg%ﬁmwﬁéﬁmﬂﬁﬁ«ﬁma@w; -‘

~(¢) What is data retrieval system ?

Explain the scope and branches of

bioinformatics. 3+7=10
w2l W @i [ 2 AT A HIE AT B
RIIEES RS e R EIE

(d) Explain the importance and use of
proteomics and genomics in crop
improvement and drug discovery.

5+5=10
7 Sfered Ui Sy RTINS fEmiiey o
il afiey R owe oIF IR T zﬁm

4 |
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(e) Write brief procedure of tea preparation ‘
and uses of tea. 6+4=10 OPTION-C

b1 2 94 e 2 R e e ( Genetics and Plant Breeding )
Paper : BOT-RE-5036

1. Answer the following questions : 1x7=7

wTe LIRS Tel fal ¢

(a) Who is the father of genetics ?
" i Igeife Resiem oip g1 (il 22

(b) Define allele.
afever gl a3 |

(c) Which one represents Mendel’s dihybrid

CrOSS At _
(T A SRS (PG ?
(i 0. Fe 7 |
e e i
(i) 9:3:3:1
RS 18 3

(d) Define linkage.

HWoEo R |
3 (Sem-5/CBCS) BOT RE 1/2/3/¢ 12
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(e} " At which stage crossing over takes

place ?

aifs efem NG F9o 57

(f/ Name the genes associated with

Y-chromosome.

Y- aese ol B @S & @it

(g) Define Pleitropism.

ferGfeifers kel fra |
~ Answer the fdllowing questions : 2x4=8
were Al ee e fra
(@) Whatis aneuploid ? What are its types ?
GHRT 2 ez 4o o fe
(b) What is hg-rbrid vigour ?
W e &he

(c) Write significance of crossing over.

coifeq w9 ol |
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(d) What is chromosome map or génetic
map ?

TGN WAbe I FNess Ty By &

Write short notes on any three of the
following : 5x3=15
oot Al Riepiea fofA619 59 (G et ¢
(a) Mechanism of crossing over
sAReaifos e
(b) Sex-linked genes
fE1eel wfve fem
(c) Frame shift mutation
ol T e
(d) Cytoplasmic inheritance
(IR ST
(e) Chi-square test

5l (R (53

Answer any three of the following
questions : 10x3=30

o [ fof emiEaT Tes WA

(@) What is inversion ? Discuss its types

and effects. - 2+2+6=10
G 62 TSR oTlq W OF AoR
S <6 |
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(b) Write an account on inbreeding

depression.
AT TR [E R o

(c) Define epistasis: Discuss with suitable
example. B 2+8=10
afRfea e | Sge Swirsels FRIEE
SN ICeTIoA 41 |

(d) Discuss the role of biotechnology in
crop improvcment.

IR * Rph e w691 SRRSRT gk
S <5 |

(e} What are haploids ? Discuss the
-~ characteristic features and production

of haploids. 2+3+5=10
el 57 GeTOR [ERE I Bese R
IOl <51 |

(f) = What is mutation ? Give an account on
chemical mutagens. 2+8=10
TerlfRadn &2 apiie Sestfismmzs Ram
SCeTIo! <54l |
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